L
(Garrzizge i (Peer

COMPANY

RESIDENTIAL
OVERHEAD DOOR
INSTALLATION MANUAL




Figure 1

Horizontal Track
Support

|.|
Jamb Preparation VI‘

Horizontal Track

Top Fixture
E

Counterbalance

?

Vertical Track

©

Slide Bolt Lock

®

End Hinge

T

[

Center Hinge

7

Bottom Fixture

<

(((((((((((((((((((((((((((((((((((((((((((((””

Center

Horizontal Track

Support




Figure 2

Some large doors
may require additional

pad/s located off
center to accommodate
auxiliary bearings & springs.

% All vertical jambs
and pads, regardless

S
< > of type, should
extend to ceiling.

=4

e
S

Steel
Channel

Opening Height

2xb

Wyl W Opening Width v | [ ¥ Gl
WOOD JAMBS N PEES STEEL JAMBS

SECTION "W" SECTION "§"

" Interior Elevation




Pre Installation

A. Start by checking width and height of opening, and compare it to width and height of door to
make sure they are the same size +/-.

B. Inspect track and determine if you have bracket mount, angle mount/reverse angle mount
tracks. Note: bracket mount has individual track brackets to attach track to jamb. Angle
mount/reverse angle has a continuous angle to attach track to jamb (shown Figure 3). If door
was requested with reverse angle mount track. The door will need to be two inches wider than
the opening.

C. Check to make sure that the opening is ready for door installation. (Figure 2)

Figure 3

Opening Width Opening Width>

T~
= | u

b

Bracket Mount Reverse Angle Mount

ri



Door Installation

1. Start by removing the
bottom rubber from the
door, this does not include
the black membrane
underneath, only remove
the ridged bottom rubber.

2. Start with number one
section (bottom). Place %"
blocks under left and right
side of section. center and
level section in the opening

Tip: Make holding brackets out
of extra #14 jamb bracket.
Bend into a “z” shape or you
can use a nail into the jamb.
(Do not use #14 jamb brackets
if provided in hardware box)

9)

Level
Bottom

Section must

be level.
1

Shim as needed to
level.

Half Inch Block

Cables and
bottom fixtures

Figure 4

/—H Casing

(Made from
T 1+—#14 track
bracket. Not

E/’ ( Included)




ow,n
Z

Place bracket or nail into the jamb on Both Sides
to hold #1 section upright against opening.

Remove bottom fixtures, pins ,cables and carter pins

from hardware box. Slide pins through bottom fixtures /\
through cable loops, and secure from outside with

carter pin, repeat for both bottom fixtures
and attach to bottom section. (Figure 5)
Stack #2 section on top of #1 section.

Attach a “z” bracket or use nail into jamb
on either end.

Figure 5

Tip: Check front of sections to
make sure that face and trim
is aligned.

Attach first #1 hinge in correct layout for
the sections starting with the bottom
hole working up.

Outside hinges between first and second section
should start #2 (stamped on hinge). Attach #2 hinges
at the edges of the first and second section starting
with the bottom hole and working up. (Figure #6)
Stack #3 section on top of #2 section, and secure
against wall on opposite end of previous section with
nail or “z” bracket.




10.

Check front of door to
make sure face in aligned
an repeat steps 8and 9
making sure to increase
the size of your outside
hinge i.e. #3, #4, #5.
(Figure 7)

Keep repeating these steps
until the entire door is
stacked in the opening. For
the top section secure to
the wall with nail or “z”
bracket at the top of the
section. (NOT AT THE

EDGE) (SEE Figure 4)

Tip: Check front of
sections to make
sure that face and
trim is aligned.

Z BRACKET
AT TOP OF
TOP SECTION

Figure 6

Z BRACKET

ON INTERMEDIATE
SECTIONS WILL
STAGGER LEFT
TO RIGHT




11. Once all sections are stacked attach remaining intermediate #1 hinges. Some doors may

be provided with half hinges, they will need to be predrilled prior to attachingto door
(usually centered below windows)

Figure 7

#4 SECTION

#3 SECTION

#2 SECTION

(BOTTOM) #1 SECTION

4 SECTION DOORS

I

I

I

2" TRACK

2" TRACK

12R
15R
20R

3" LHT
6" LHT

TOP FIXTURE

#4 HINGE

#6 HINGE

#3 HINGE

#4 HINGE

#2 HINGE

#2 HINGE

BOTTOM BRACKET

3 SECTION DOORS

2" TRACK | 2" TRACK
12R 3" LHT
15R 6" LHT
20R

TOP FIXTURE
#3 HINGE | #5 HINGE
#2 HINGE | #3 HINGE

BOTTOM BRACKET




12.

13.

14.

15.

16.

17.

Remove verticals from inside bound track. Square
punch location is closest to bottom of the vertical
track. To differentiate left from right.

Attach jamb brackets to verticals for 8, 9, 10 foot
doors start with a #10 at lowest slotted hole,
followed by a #12 then a #14, 7 foot tall doors
will only have #10’s and #12’s (Figure 9)

(leave loose for adjustment)

Remove rollers from hardware box and insert into
bottom fixtures and extended roller locations
(Figure 8) on end hinges of each section.

Just prior to attaching vertical track to h casing
remove nails or “z” brackets on that side only.
Place half inch block below vertical track
locations (If bottom edge of door was raised
higher than %" place equal sized block
underneath track, So if the bottom edge of the
door is 1” off of the ground to be level put one
inch block underneath vertical track on that side.)
With assembled vertical track starting with right
side rock track onto all rollers simultaneously
“locking” rollers into track.

(Figure 10) ><

Extended Roller

Location

e

Figure 8

e

Bottom (#3 Hinge)
Figure 9
Figure 10
|
: |
ol |
Correctly

Installed

=W

/ #12

PUNCH OUT
FOR LOCK
SHOULD BE
CLOSEST TO
THE BOTTOM

/#10
¢




18. With bottom of vertical track placed 1/8”
away from bottom corner of door. Set #10
jamb bracket against “H casing”
pre drill and attach with provided lags.

19. Set the top of the vertical track 34”
away from the edge of the door
Set #14 jamb bracket against “H casing”.
Predrill and attach with provided lags.
(see Figure 11)

20. Set #12 jamb bracket against
“H casing” where it lies. Predrill
and attach with provided lags.

21. Remove right side flag bracket
from hardware box. Attach to top

of vertical in lower flag slot with /\

2 —5/16” track bolts provided.
Do not tighten, leave loose. oo
(see Figure 12)

Figure 11

3

|- —

4

=

oo
Tip: flag brackets should be ™ /’c:ﬂ
installed with flag closest to o~
door and mounting angle ﬂ; R &l

pointed away from door.

0|—

Figure 12




22. With flag bracket loosely attached to vertical, push flag bracket against
“H casing” trying to keep as parallel to the door as possible. Predrill
lowest horizontal slot on mounting angle of flag bracket and attach
with provided lag loosely.

23. Place level vertically onto flag bracket once parallel predrill and attach
at top horizontal slot on mounting angle of flag bracket.

Then sure and secure both top and bottom lags of flag bracket
(leave vertical track loose for now)

24. While second person supports back of right side
horizontal or “hooked” track. Place hook of track on top of
vertical attach to flag bracket with 2 — 5/16” track bolts.
Then attach the support angle of the horizontal
track to the top of the flag bracket using

1-9/16” carriage bolt with the nut to
the outside. ‘/L

25. While still supported by help,
align rear of radius track with vertical and tighten all 4 track bolts
(2 on the vertical and 2 on the “hook”)

Figure 13

26. Place level on horizontal track, once level tighten top 9/16” carriage bolt and the

horizontal track should be supported enough to release at rear.

A
A

—
&

LEV

@’ a

27. Remove right side bearing plate from hardware box. Using 2 - 9/16” carriage bolts
attach bearing plate to horizontal track. With mounting angle flush against the jamb
pointed away from the door. Then using 2 - 1/4” x 20 x 3” lags predrill and attach bearing plate to

“H casing”.
(SEE Figure 13 for completed steps 22-26)

H CASING

EL



28.

29.

30.

31.

32.

Remove top fixtures from hardware box,
loosen adjustment plate with 2” wrench.
Install roller into top fixture.

Measure 2” from top of door and mark, rock
rollerinto radius of track. The roller should be
on the top of the top fixture. Predrill and
install top of top fixture two inches from top
of door flush with edge. With all six anchor
pointsusing 1/4” x 20 x 1 %" lags.

With eye or a shim pull top of door away
from headerslightly (1/8”) then place 5/16”
track bolt through available hole in top fixture
and tighten %" adjustment bolt. Then remove
nail or “z” bracket holding the top section to
the H-casing.

Making sure the dooris not bound against
the jamb tighten track bolts for the jamb
brackets attached to the vertical.

Repeat steps 13 — 31 for left hand side.

Figure 14 .

— 1" FROM OPENING

tII
2
FROM TOP

OF DOOR
|

* FLUSH
\ WITH

DOOR
EDGE




33. Cut and assemble 1”x1” punched angel

(not included) for back hangs. (Figure 15)

Locate ceiling joists or upper floor trusses predrill

and attach back hangs with 1/4” x 20 x 3” lags ,making
sure that track is level and parallel from wall measuring
at front of horizontal to wall and to a similar location
from wall to rear of horizontal attach back hang to track
using 5/16” x 1” bolt. In some cases center hangs may
be required. (A2 Figure 1)

Repeat steps 34-35 for left hand side

Staring with #1 (bottom) section, at bottom

34.

STANDARD
NON-WIND LOAD DOORS

35.
36.

3 SECTION 4 SECTION

Figure15 L ° o .

\ STRUT \ STRUT

of the hinges that are attached between
#1 and #2 section. Place top of strut 1/8”
down from bottom of hinge centered in door.

Predrill and attach using 1/4” x 20 x 1 44" lags.

@

Repeats for all sections except for top. R p—
(Figure 16)

Strut for top section should be attached

o]

ib iSTFIUT
37.

@

above the top fixtures in the manner
described in step.

\STRUT

@l
-

fSTRUT

1
‘u b‘#
STRUT

FULL hinges on door. Some struts may have holes
where hinges may not be do not attach strut in :J j

Note: all attachment points should be in line with 8

these locations.

—02® 0 5 =]
0 — 7| a
0|9

0|9

0|9

0 Q

@9

0|9

0|2

0|9

0|9

0|9

— L~

Figure 16



IMPORTANT: We recommend that you call a professional for the last step of the
installation of this door, as it can cause serious bodily injury if not preformed correctly.
Understand that you are continuing at your own risk.

38.
39.

40.

41.

42.

Assemble torsion tube as pictured figure 17-21

With a friend lift torsion assembly above track. Slide one side of the tube into one bearing
plate first to clear bearing plate on other side and then slide into other bearing plate.

Before attaching spring mounting brackets make sure to level torsion assembly. Pre drill and
attach spring mounting brackets with 1/4” x 20 x 3” lags. Using no less than two per bracket.
Starting with left side attach cable from bottom fixture to drum running closest to the wall.
Rotate drum until slack is removed from cable. Tighten set screws on drum. While holding
tension on drum by rotating tube fix tube in place by attaching locking vise-grips so that handle
rests against jamb.

On right side attach cable in same manner as left, remove slack from drum, and tighten set
screws. No locking vise-grips needed for this side.



Shaft Center Line Fi gure 17

Spring
Mounting

Shaft Bearing Bracket

Spring

Figure 18

Clipped Corner
SOLID SPLIT SHAFT to the Bottom

Mounting Cone

LOCK NUT & BOLT
Shaft Center Line

SHAFT COUPLING

LOCK PIN



Figure 19

Left hand Right hand
cable drum (Red) cable drum (black)

H Right
1 R ' Wound
R.W. H L.W. 2 Spring
Spring Spring :
(Red Cone) (Black Cone)

Bearing Plate

Two springs mounted on a 1" torsion tube. Left
Wound
Figure 20 Spring
Left hand
cable drum (Red) Bearing Plate
= -\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\l\\\l\\\WllJJIIIlIHﬂ!!!!!!ﬂ!!ﬂ!!ﬂ!!ﬂIIlIlllWWWWlIIWHHHHIHH!!E—E\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\l\\\l\\\\\\\\\\\\\\\\\\m\\\\\\\\\\\\\\\\W\ﬂlWllllllﬂlllllmﬂlﬂ fi e '
B R.W. i LW, R.W. Lk LW, 2
(Red Cone) (Black Cone) (Red Cone) (Black Cone)
Four springs mounted on a 1" torsion tube.
Figure 21
Left hand Right hand
cable drum (Red) cable drum (black)
E '\\\\\\l\\\ll\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\U\\l\\U\\\\\\\\\\\ll\\\l\\\l\\\l\\\WﬂllIIJJIIHHHHHHHHHHHHIllﬂlWWWWIWHHHHHHHHIE E\\\U\\\\\\\\\\\\\\\\l\\ll\\ll\\\l\\\l\\\\\\\\l\\\l\\\\\\\\\\“\\“\\\\\\\\\@\!mﬂllmlWWlWHHHHHﬂlﬂﬂﬂﬂﬂﬂﬂﬂﬂIlltIMIIIJIIIJWIIIW' '
2 R.W. H L.W. R.W. “ L.W. 2
(Red Cone) (Black Cone) (Red Cone) (Black Cone) |
Four springs mounted on a 1" keyed split solid shaft.



#4

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
/
EE ] { . ® o o o cojonomm
— 10" =—
X - 3 X - 3 X -3 = X -3 ]
— —RB
~
& | 2 TYP
5 o Jia| i3 i3 = —B @1 J_ o
0 I - Lol - Lol - el
o —
2 & r 1 1 1 1 1
p—
e | | | | |
= e
g5 | | | | | | | | |
AT ; - - - ot "
o : = = = e 32" Max o
=y | || || K N
5 5 | | | | | | | |
2 9
e B e
= E fo
) - _ — — — '
= r
0
| | | | | | | | |
| ] ] ] ]
!5: — = = = \
L o L L _—___JL 2
c|C i
==
AT Ln f
5"TYP — =2 4 TYP
10' Max Width
. . . — N Locking Mechanism 'T Track Brackets
End Hinge ) Center Hinge ) Short Center H}nge Bottom Bracket Top Fixture Struts ) Doors must have either an 12 gauge galvanized steel track
11 gauge galvam;ed steel en<'i 11 gauge galvanized 11 gauge galvanized 11 gauge galvanized CX o K] 12 gauge galvanized 3" 20 gauge 50 ksi clectronic operator or locking bracket attached to wood jamb
hinge attached with four 1/4' 6 steel hinge at each ° steel hinge at each steel bottom bracket steel top fixture attached hat strut attached device installed (inside slide with one 5/16" x 3" wood lag
x 2 1/4" carriage bolts center stile attached center stile attached attached to bottom section with two 1/4" x 1 3/8" with two 1/4" x 1 3/8" 0Qo lock shown, other lock types d screw and to vertical track with
Roller [ with four 1/4" x 2 1/4" | with two 1/4" x 2 1/4" with three 1/4" x 2 1/4" n lag screws (push nut is lag screws per stile and (I H zl permitted) ? one 1/4" x 5/8" track bolt and
2" steel or nylon roller with a carriage bolts [ carriage bolts (for use carriage bolts (no push nut required on top roller) located as shown on the H nut
4" stem and push nut installed ﬂ on glass section) required on bottom roller) sections
\o/ <0 Ton
—
_ .\ . .
/—1/4" exterior Note: The design of the supporting structurall EL o
I o eqs LT ;
Flag Bracket ply D>, N1 exterior oy Windows (optional) element.s shall be the responsibility of the
12 gauge galvanized steel flag | ~13/8" foam Lexel scalant DSB glass windows with a professional of record for the structure and g 7 m, @
bracket attached to wood jamb 3/8" exterior insulation 3/8" exterior ply maximum opening of 49 1/4" x : : 1q: W m
with three 5/16" x 3" wood lag ply \ 24", retained on all four sides on n accordance.wnh CuI‘I‘E?l‘lt bUIldlng codes . coOMmPAanNY
screws and to the horizontal and p DSB glass the outside by 1" x 6" Extira and for the loads listed on this document 1S71 ¢ MAIN ST./HWY 79 PHONE 828-668-1600
vertical tracks with two 1/4" x |~ 13/8" wood \ on the inside by 3/8" x 3/8" < QLD FORT. Mo 28762 FAX 828-008-1809
5/8" track bolts and nuts each frame quarter round retainer (overlap Models: Desngn 101 thru 108 TITLE
(o) on all four sides 3/8") nailed in Tested in accordance with
Horizontal Track and Angle with 23 ga. x 5/8" pin nails 1" : l l
Horizontal track and angle to suit C from each edge and with a ANSI/DASMA 108 1 OX 8 C aI I lage Ouse D Oor +3 7/_ 3 7 P SF
. maximum spacing of 6", and Design Pressure: +37/-37 PSF
V"ertlcal ".l“racl.( ] b . ) sealed on all four edges with Test Pressure: +55.5/-55.5 PSF
2" galvanized steel track with a N n s I, 3/8" x 3/8 Lexel sealant
minimum thickness of .075" 1" x 6" Extira 1" x 6" Extira / glass retainer DRAWN BY: DRAWING NUMBER REVISION
L8 wood : Carriage-10-8-37-37 A
XAl ~ APPROVED BY:
Section A - A Section B - B s’ F m J&t f 4/4/1 5 SIZE B SCALE N/A SHEET 1 Of 1




8' High Door (Max Section Height 24")

S
|

— 10" ~—
= = = —— =
== i il
l /A4 /{/ V4
oo = & B
w____!_!_____!.,!_____!_!—____' t
Sl i i i
& | || || ||
= |dl || || ||
e
§ W————' _____ 9 ___ _ 9 o
@) = = = =
» | ] i i
= | | | |
| | || ||
wii:%_iii_%_iii_%_iii
@E' =t = =

E|= : : :
5 " TYP AT —_— = ZZ" TYP
10' Max Width
End Hinge Center Hinge Short Center Hinge Bottom Bracket Top Fixture
11 gauge galvanized steel 11 gauge galvanized 11 gauge galvanized 11 gauge galvanized o0 o|[c O o 12 gauge galvanized
double end hinges with the ) steel hinge at cach ® steel hinge at cach steel bottom bracket steel double top fixtures
outer hinge attached with four center stile attached center stile attached attached to bottom section attached with two 1/4" x
1/4" x 2 1/4" carriage bolts with four 1/4" x 2 1/4" | with two 1/4" x 2 1/4" with three 1/4" x 2 1/4" 1 3/8" lag screws each
and the inner hinge attached carriage bolts [ carriage bolts (for use carriage bolts (no push nut o o (push nut is required on
with four 1/4" x 1 3/8" lag U on glass section) required on bottom roller) top roller)
SCrews \ﬂ/ °000|lcQo
Roller

2" steel or nylon roller with a
hardened 7" stem and push nut
installed (hurricane roller)

i1

Flag Bracket

12 gauge galvanized steel flag
bracket attached to wood jamb
with three 5/16" x 3" wood lag
screws and to the horizontal and
vertical tracks with two 1/4" x
5/8" track bolts and nuts each

Horizontal Track and Angle
Horizontal track and angle to suit

Vertical Track
2" galvanized steel track with a
minimum thickness of .075"

/—1/4" exterior
ply
| —13/8" foam

insulation

p

| —13/8" wood
frame

[*)

3/8" exterior —
ply
1" x 6" face b1
_\\
1" x 6" trim
Section A - A

1" x 6" face

1/4" exterior ply

Lexel sealant

1/4" Lexan \

#6 x 2" drywall screw

21/4"x 1"

Wy @M g .
1" x 6" trim glass retainer

1.3/8" wood
frame

N
Section B - B\3/8" exterior ply

‘Windows (optional)

1/4" Lexan windows with
a maximum opening of 49
1/4" x 16", retained on all
four sides on the outside
by 1" x 6" trim and on the
inside by 1" x 2 1/4"
retainer (overlap on all
four sides is 1") screwed
in with pairs of #6 x 2"
drywall screws 1" from
cach edge and with a
maximum spacing of 13",
and sealed on all four
edges with Lexel sealant

r 22" TYP

REVISIONS

ZONE REV

DESCRIPTION

DATE

APPROVED

Struts

3" 20 gauge 50 ksi

hat strut attached

with two 1/4" x 1 3/8"
lag screws per stile and
located as shown on the
sections

d I

zl permitted)

—_—

Locking Mechanism

Doors must have either an
electronic operator or locking
device installed (inside slide
lock shown, other lock types

.

6" TYP |

6" TYP

[][]

t |
b

2"

—

Track Brackets

12 gauge galvanized steel track
bracket attached to wood jamb
with one 5/16" x 3" wood lag
screw and to vertical track with
one 1/4" x 5/8" track bolt and

nut

Note: The design of the supporting structural
elements shall be the responsibility of the
professional of record for the structure and
in accordance with current building codes
for the loads listed on this document

gm@&

1IS71 E MAIN ST
OLD FORT, NC

COMPANNY

FHWY 79

8762

R et
e ser Ppers

PHOMNE 828-668-1600
Fax 828-6068-18095 |

Models: Design 101 thru 108

Tested in accordance with ANSI/DASMA
108 and ANSI/DASMA 115

Design Pressure: +50/-57.5 PSF

Test Pressure: +75/-86.3 PSF

TITLE

10x8 Carriage House Door +50/-57.5 PSF

DRAWN BY: DRAWING NUMBER REVISION

M. Soode 4/4/15 Carriage-10-8-50-57 A
APPROVED BY:
Johr TN Bbrseda 4/4/15 SIZE B scALE  N/A SHEET ] of |




——— 8' High Door Shown (Max Section Height 27") Max Door Height 12"

- Lfffj

5" TYP —1

] S
=

Lo
2; 7} TYP
10" Max Width

End Hinge

11 gauge galvanized steel
double end hinges attached
with four 1/4"x 2 1/4"
carriage bolts or four 1/4" x
11/4" lag screws

Roller

2" steel or nylon roller with a
hardened 7" stem and push nut
installed (hurricane roller)

Flag Bracket

12 gauge galvanized steel flag
bracket attached to wood jamb
with three 5/16" x 1 5/8" wood lag
serews and to the horizontal and
vertical tracks with two 1/4" x
5/8" track bolts and nuts each

Horizontal Track and Angle
Horizontal track and angle to suit

Vertical Track
2" galvanized steel track with a
minimum thickness of .083"

Center Hinge
11 gauge galvanized
steel hinge at each
center stile attached
with four 1/4" x 2 1/4"
carriage bolts or four
1/4"x 1 1/4" lag
screws

Short Center Hinge
11 gauge galvanized
steel hinge at each
center stile attached
with two 1/4" x 2 1/4"
carriage bolts or two
1/4"x 1 1/4" lag
screws (for use on
glass section)

13/8" foam

1/4" uan insulation

1 3/8" Douglas
5/8" trim

1/2" face

18 ga. pin nail typ

i

Bottom Bracket
11 gauge galvanized
steel bottom bracket

attached to bottom section

|FII

REVISIONS

ZONE ‘REV ‘

DESCRIPTION

DATE

APPROVED

kfffq L1 E|

—__ Lfffﬂ
_

S"TYP —t

Top Fixture

(oXeXe)/(eX=X°)

12 gauge galvanized

with three 1/4" x 2 1/4"
carriage bolts or three 1/4"
x 1 1/4" lag screws (no

push nut required on
bottom roller)

9/16" hurricane ~

glass

extruded aluminum —

N #7x 158"
/- stainless steel

trim head screw

q
e}

1 1/4" lag screws ach

top roller)

000Il00 0

4" x4" crown staple typ

Section A - A

; aner PN
Fir frame retainer
™~ wood rear
window insert
|~13/8" wood
frame
Section B - B

Windows (optional)

9/16" hurricane glass
windows with a maximum
opening of 47" x 16 5/8" on
the front and 48 3/4"x 18
3/8" on the back, retained
on all four sides by an
extruded aluminum retainer
and wood rear window
insert attached with #7 x 1
5/8" stainless steel trim
head screws (overlap on all
four sides is 7/8"), and
sealed on all four edges
with Dow Corning 995
sealant

steel double top fixtures
attached with six 1/4" x

(push nut is required on

L 24 Tye

—— 10" Max Width

Struts

3" 20 gauge 50 ksi

hat strut attached

with two 1/4" x 1 1/4"
lag screws per stile and
located as shown on the
sections.

3 permitted)

Note: The design of the supporting structural
elements shall be the responsibility of the
professional of record for the structure and
in accordance with current building codes
for the loads listed on this document

Locking Mechanism

Doors must have either an
electronic operator or locking
device installed (inside slide
lock shown, other lock types

Track Brackets
12 gauge galvanized steel track
bracket attached to wood jamb
with one 5/16" x 15/8" wood
lag screw and to vertical track
with one 1/4" x 5/8" track bolt
and nut

o

Pt

g ”
S AN s
OLD FORT, MNC

coMPAaMNY

AW s
zZ8762

- L oz

PHONE 828-668-1600
FAX BZE-668-1805

Models: Design 101 thru 108

Tested in accordance with ANSI/DASMA
108 and ANSI/DASMA 115

Design Pressure: +48/-55 PSF

Test Pressure: +72/-82.5 PSF

TITLE

10x8 Carriage House Door +48/-55 PSF

DRAWN BY: DRAWING NUMBER REVISION
o T Slrecds 65718 Carriage-10-8-48-55 A
(b, T Shsede 6/5/18  |SZE B [scae N/A [smeer ] of |




3" Track

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
N \) ;E ] (/ N ® o o o cosonoon l_
ln )
— 24" TYP
——— 1
| | | | | | | |
|| | | | | | | | | | | | - |
= = = = = = = — = 2w Typ
I ) U ) U ) U ) U ) S O ____L__Il_“°‘ 4
: e e el | el e et s =% a1
< : : : : : : . =B
3 | | | | | | | |
2 & | | | | | | | |
o =
£% I:I I:I |:| |=| l:' |:| |:| L g ]
Q WE n
%é ____0____ 0____ ._____._____._____. ____‘.____ Om 6 TYP
§§ N () _ _ _ _ 19 R | _ J _ J _ n_____n____w‘ f
%Q = = = == == = = - EE] b
s % | | | | | | | |
8= | | | | | | | | %
5 | | | | | | | | | | | | | | Ll
m T ra T T > X X (=
% I C) W o] ) W ) W ) W O - L____i“im‘ ‘
IE— ] — ] - __\? -_ ? -_ ? - %) l_____H?g\!/ 6" TYP

End Hinge
11 gauge galvanized steel
double end hinges with the

Roller

roller)

oo $ ©ooooo
q
IY
q
Lo )
N

Flag Bracket

Vertical Track

S"TYP t
16' Max Width ‘
. —N Locking Mechanism Track Brackets and Clips
Center Hinge ) Bottom BrackeF Top Fixture S:ruts ) Doors must have either an 12 gauge galvanized steel track
11 gauge galvanized 11 gauge galvanized cQo]l[cOo 12 gauge galvanized 3" 20 gauge 50 ksi electronic operator or locking bracket attached to wood jamb
| ) 6 steel hm_ge at each ) steel bottom bracket for 2" or steel double top fixtures hat strut attached device installed (inside slide with one 5/16" x 3" wood lag
outer hinge attacl?ed with four center stile attached W}lh 3" rollers and attached to two 1/4" x 1 3/8" lag with two 1/4" x 1 3/8" 0oQo lock shown, other lock types screw and to vertical track with
1/4" x 2 1/4" carriage bollsAand four 1/4" x 2 1/4" carriage bottom section with three 1/4" - n screws each (push nut is lag screws per stile and (I I zl permitted) one 1/4" x 5/8" track bolt and
the inner hinge attached with bolts x 2 1/4" carriage bolts (no required on top roller) located as shown on the 1 T nut or 12 gauge galvanized steel
four 1/4" x 1 3/8" lag screws push nut required on bottom sections (two per section) track clips riveted to 12 gauge
Roller ) ) roller) 0QofloQo (°O°] angle (the same spacings apply
2 Lor 3" steel or nylon roller to both track brackets and track
with a hardened 7" stem and —_ - clips)
push nut installed (hurricane N -
_, | /a extrior Note: The design of the supporting structural
= I o eqs
2% Track Option 000000 3 09| 3w ek Option ply element.s shall be the responsibility of the
A L~13/8" foam professional of record for the structure and g >
Vertical Angle 1/2" exterior —\\ insulation in accordance with current bu1ld1r1g codes W
12 gauge galvanized steel flag 12 gauge galvanized steel angle ply b . . -
bracket attached to wood jamb attached to wood jamb N for the loads listed on this document IS71 € r' AIN ST
with three 5/16" x 3" wood lag with 5/16" x 3" wood lag screws | —13/8" wood - QLD FORT. NC
screws and to the horizontal and at each track clip location as well frame Models: Desngn 201, 202, 203, 206 TITLE
tical tracks with two 1/4" p the t 1 th r : 3
55 vk e i R TSN T (O o NS e Wb ANSUDASMA
3 angle N o 108 and ANSI/DASMA 115
Horizontal Track and Angle Design Pressure: +40/-43 PSF
Horizontal track and angle to suit Horizontal Track and Angle 1) .
Horizontal track and angle to suit Test Pressure: +60/-64.5 PSF
. 1"x 6" trim DRAWN BY: DRAWING NUMBER
2" galvanized steel track with a b I_. 80 Vertical Track 7 ) l t,.‘ Y dﬂ .
minimum thickness of .075" oll=00 3" galvanized steel track with a ) J& 4/4/1 5 Carrlage- 1 6- 8-40-43
minimum thickness of .090" | APPROVED BY:
o Section A - A SIZE B

2" Track

IHWY 79
ZB762

R et
e ser Ppers

COMPAMNY
PHOMNE 828-668-1600
Fax 828-6068-18095 |

16x8 Carriage House Door +40/-43 PSF

REVISION

A

Johr, . trseds 44/15

SCALE SHEET

N/A 1 of 1




REVISIONS

ZONE REV DESCRIPTION DATE APPROVED

[ "
== ° | " | —" " €

/A4 /A4 V4 ///:
== T

:\
;'.
(@l
N
g |
on
= |
o o
-
H | | |
38 - - _ _ S 7 R /. R
195) T @ e)fo . [ e
=
% [ - - - - _\t - _\t -
5 g NN — = = —N— =
2 Q E 1 == == == == =t =t -
5 | | | | | | | | | 9
5 &
23 | 4f 7
n
8 o | | | | | | | | | | | | | 24" Max
=
5 | | | | | | | | | | | | |
a
— e e £ e e e, e £ e
[*l] E e)fo . ) ) [ =
EM____ v u______m______m______u R { ) S
= = o, o, =] =] .
g [
Q. Jr - Jr_ . Jr_ g Jr____JL__ 2
o E = = = = = o =
S"TYP —f t
' .
. ‘ ] 18" Max Width —N Locking Mechanism Track Brackets
End Hinge ) Center Hinge ) Short Center H}nge Bottom Bracke? Top Fixture S:ruts ) Doors must have either an 12 gauge galvanized steel track
11 gauge galvanized steel 11 gauge galvanized 11 gauge galvanized 11 gauge galvanized T Oo|[c0o 12 gauge galvanized 3" 20 gauge 50 ksi electronic operator or locking bracket attached to wood jamb
double _end hinges w1th_ the ) steel hm_ge at cach ® steel hm_ge at cach steel bottom bAracketA attached steel double top fixtures llgt strut attached device installed (inside slide with one 5/16" x 3" wood lag
outer hinge attached with four center stile attached center stile attached to bottom section with three attached with two 1/4" x with two 1/4" x 1 3/8" 0oQo lock shown, other lock types screw and to vertical track with
1/4" x 2 1/4" carriage bolts and with four 1/4" x 2 1/4" | with two 1/4" x 2 1/4" 1/4" x 2 1/4" carriage bolts (no - - 1 3/8" lag screws each lag screws per stile and (I I zl permitted) ’ one 1/4" x 5/8" track bolt and
the inner hinge attached with carriage bolts [ carriage bolts (for use push nut required on bottom (push nut is required on located as shown on the H nut
four 1/4" x 1 3/8" lag screws \s/ on glass section) roller) top roller) sections (two per section)
Roller o QojloQo &
2" steel or nylon roller with a
hardened 7" stem and push nut —
installed (hurricane roller) . ~
N /—1/4" exterior Note: The design of the supporting structurall : ?ft’ gy
oo 2 oo ooo Flag Bracket ply >IN ) 1 Windows (optional) elements shall be the responsibility of the
. " 1/4" exteri H . .
12 gauge galvanized steel flag ) L~13/8" foam Lexel sealant cxieriorply DSB glass windows with a professional of record for the structure and g - m, @
bracket attached to wood jamb 172" exterior ~ insulation 3/8" exterior ply maximum opening of 43 1/4" x B H i W m
with three 5/16" x 3" wood lag ply ™ b 16", retained on all four sides on n accordance.wnh CuI‘I‘E?l‘lt bUIldlng codes . . coOMmPAanNY
screws and to the horizontal and . DSB glass N the outside by 1" x 6" Extira and for the loads listed on this document 1S71 E. MAIN ST.71 LW Y 79 PHONE 828-668-1600
vertical tracks with two 1/4" x | ~13/8" wood on the inside by 3/8" x 3/8" _ OLD FORT, NC 28762 FAax 828-0668-18095
5/8" track bolts and nuts each frame quarter round retainer (overlap Models: Desngn 101-108, 201-203 TITLE
11 four sides 3/8") nailed in 3 3
) 1" x 6" face (6) ona ) na Tested in accordance with
Horizontal Track and Angle ~N (o) with 23 ga. x 5/8" pin nails 1" : l l /
4
4 Horizontal track and angle to suit B from each edge and with a ANSI/DASMA 108 1 8X 8 C aI I lage Ouse D Oor +2 1 _2 1 P SF
maximum spacing of 6", and Design Pressure: +21/-21 PSF
;'ertlcal ".l“racl.( ] b . ) sealed on all four edges with Test Pressure: +31.5/-31.5 PSF
galvanized steel track with a 1" x 6" tri 1" x 6" Exti 3/8" x 3/8 Lexel sealant
5 minimum thickness of .075" X 6" trim x 6" Extira /glass retainer DRAWN BY: DRAWING NUMBER REVISION
o0 |1 3/8" wood M. bStroede 4/4/15 : 1R.Q.N1.
QL Carriage-18-8-21-21 A
L ~ APPROVED BY:
Section A - A Section B - B
~ ection eetion yoﬁvnl M. blrsede 4/4/15 SIZE B SCALE N/A SHEET 1 of1




8' High Door (Max Section Height 24")

installed (hurricane roller)

N
oo $ ooooo

of

it

Il
I

Flag Bracket

12 gauge galvanized steel flag
bracket attached to wood jamb
with three 5/16" x 3" wood lag
screws and to the horizontal and
vertical tracks with two 1/4" x
5/8" track bolts and nuts each

Horizontal Track and Angle
Horizontal track and angle to suit

Vertical Track
2" galvanized steel track with a
minimum thickness of .075"

/— 1/4" exterior
ply
L —13/8" foam
1/2" exterior — insulation
ply
|
| —1 3/8" wood
frame
1" x 6" face (o)
~ A
p
1" x 6" trim
Section A - A

¥

Lexel sealant L

DSB glass \

1" x 6" Extira

N~

1/4" exterior ply
3/8" exterior ply

3/8"x 3/8"
/ glass retainer

| —13/8" wood
frame

A
N

Section B - B

Windows (optional)

DSB glass windows with a
maximum opening of 43 1/4" x
16", retained on all four sides on
the outside by 1" x 6" Extira and
on the inside by 3/8" x 3/8"
quarter round retainer (overlap
on all four sides 3/8") nailed in
with 23 ga. x 5/8" pin nails 1"
from each edge and with a
maximum spacing of 6", and
sealed on all four edges with
Lexel sealant

Note: The design of the supporting structural
elements shall be the responsibility of the
professional of record for the structure and
in accordance with current building codes

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
E ] (/ . ® o o o cojonnm
I 10" TYP I /
E = = = = = = = =1
——B
T
! ZZ" TYP
| 20 = s = A\ = . T i3l s [ =
R 7 0 | e j _____m_____ | 1 R T
MV 1L ¥ . . ¢ .C 2
= = T T ™ o = T = q
& | | | | | | | | | | | | | | | |
g | | | | | | | | | | | | | | | |
I S S
e s)fe ¢ . . . s)fe | I
N A A — T ———— E—— E—— e
a = = = = = =3 -
5 | | | | | | | | | | | | | | | |
E E] lﬁ llﬁl ] "
| | | | | | | | | | | | | | | | % 24" Max
P SR R S | —— AR Sy
T ———— ———— B —— ) E——— ) ——— '
= = = = = = = =3 = =
2 A "
ol Jv . Jr g b g J o JL IR 2
= = = = = = = =
HE= —| |
5"TYP —f
' .
. . ] 18' Max Width —_— Locking Mechanism Track Brackets
End Hinge . Center Hinge . Short Center Hl nge Bottom Bracket Top Fixture Struts Doors must have either an 12 gauge galvanized steel track
11 gauge galvanized steel 11 gauge galvanized 11 gauge galvanized 11 gauge galvanized c0o][c0Oo° 12 gauge galvanized 3" 20 gauge 50 ksi electronic operator or locking bracket attached to wood jamb
6 double end hinges with the 6 steel hinge at each ° steel hinge at each steel bottom bracket attached steel double top fixtures hat strut attached device installed (inside slide with one 5/16" x 3" wood lag
outer hinge attached with four center stile attached center stile attached to bottom section with three attached with two 1/4" x with two 1/4" x 1 3/8" oQo lock shown. other lock types screw and to vertical track with
| 1/4" x 2 1/4" carriage bolts and with four 1/4" x 2 1/4" with two 1/4" x 2 1/4" 1/4" x 2 1/4" carriage bolts (no 1 3/8" lag screws each lag screws per stile and (I H E] ermitted) ? P one 1/4" x 5/8" track bolt and
IEU the inner hinge attached with carriage bolts [ carriage bolts (for use push nut required on bottom = a (push nut is required on located as shown on the H P nut
four 1/4" x 1 3/8" lag screws ﬂ on glass section) roller) top roller) sections (two per section)
Roller \‘/ 0 0DoJloO o cQo
2" steel or nylon roller with a
hardened 7" stem and push nut ~

At
o oreder D

COMP.AMNY

for the loads listed on this document 1571 E. MAIN ST./HWY 79 PHONE B828-668-1600
OLD FORT, NC 28762 FAX B28-668-1805
Models: Design 101-108, 201-203 TITLE

Tested in accordance with ASTM E330
and ANSI/DASMA 108

Design Pressure: +25.5/-25.5 PSF

Test Pressure: +38.25/-38.25 PSF

18x8 Carriage House Door +25.5/-25.5 PSF

DRAWN BY:
Jobm NN Slroede 4/4/15

DRAWING NUMBER

APPROVED BY:
Jobr, NN Dlrsede 4/4/15

Carriage-

REVISION

18-8-25-25 A

SIZE

B

SCALE SHEET

N/A 1 of 1




F 6"TYP

f

on
3" Track

1

End Hinge
11 gauge galvanized steel
double end hinges attached
with four 1/4" x 2 1/4"
carriage bolts or four 1/4" x

1 1/4" lag screws

Roller

2" steel or nylon roller with a
hardened 7" stem and push nut
installed (hurricane roller)

Center Hinge

11 gauge galvanized
steel hinge at each
center stile attached
with four 1/4" x 2 1/4"
carriage bolts or four
1/4" x 1 1/4" lag
screws

1/4" luan

Flag Bracket
12 gauge galvanized steel flag
bracket attached to wood jamb
with three 5/16" x 1 5/8" wood lag
serews and to the horizontal and
vertical tracks with two 1/4" x
5/8" track bolts and nuts each

13/8" foam

1/4" uan insulation

5/8" trim Fir frame

Horizontal Track and Angle 172" face

Horizontal track and angle to suit -
18 ga. pin nail typ

Vertical Track

2" galvanized steel track with a

minimum thickness of 083" or 3"

galvanized steel track with a P i

minimum thickness of .090" X" crown staple typ

Section A - A

Short Center Hinge
11 gauge galvanized
steel hinge at each
center stile attached
with two 1/4"x 2 1/4"
carriage bolts or two
1/4"x 1 1/4" lag
serews (for use on
glass section)

1 3/8" Douglas

Bottom Bracket
11 gauge galvanized

steel bottom bracket
attached to bottom section
with three 1/4" x 2 1/4"
carriage bolts or three 1/4"
x 1 1/4" lag screws (no

push nut required on
bottom roller)

9/16" hurricane ~

eass N #Tx 158"
/- stainless steel
trim head screw
extruded aluminum —
retainer [N

M~ wood rear
window insert

| ~13/8" wood
frame

Section B - B

Top Fixture

OOO(000] |2 sauge galvanized
steel double top fixtures
- - attached with six 1/4" x
1 1/4" lag screws each
(push nut is required on
top roller)
YeYe)([eYeYe)

Windows (optional)

9/16" hurricane glass
windows with a maximum
opening of 41 3/4" x 16 5/8"
on the front and 43 1/2" x
18 3/8" on the back,
retained on all four sides by
an extruded aluminum
retainer and wood rear
window insert attached with
#7x 1 5/8" stainless steel
trim head screws (overlap
on all four sides is 7/8"),
and sealed on all four edges
with Dow Corning 995
sealant

Struts

3" 20 gauge 80 ksi

hat strut attached

with two 1/4" x 1 1/4"
lag screws per stile and
located as shown on the
sections.

4"x21/2" 16 gauge 50 ksi ¢
channels attached with one

1 1/4" wide 16 gauge strap, one
1/4" x 5/8" self tapping screw
and three 1/4" x 1 1/4" lag
serews per stile and boxed with
one 3.776" x 2 3/8" 12 gauge
plate and four 1/4" x 5/8" self
tapping screw at the center three
stile locations

Doors must have either an
electronic operator or locking
device installed (inside slide
lock shown, other lock types

3 permitted)

REVISIONS
ZONE ‘ REV ‘ DESCRIPTION DATE APPROVED
= =] S
I 93" TYP
——B
a I I | I
z || || Il
=
I
/A7 N 7 7 RN 7 7T NN R/ /4
- | g I I Col =
o
[a]
5
z i«
=
'% 6" TYP
jss)
g
3
w0
&
2
=]
w 6" TYP &
: !
2
20
= n [ [ [ |l \ |l Il " .
— I — — e — —— I — ¥ I | | | | Zi
& . = @ = o @ = 2" Track
5" TYP—’ '
18' Max Wldth C Channels —N Locking i Track Brackets

12 gauge galvanized steel track
bracket attached to wood jamb
with one 5/16" x 1 5/8" wood
lag screw and to vertical track
with one 1/4" x 5/8" track bolt
and nut

Note: The design of the supporting structural

elements shall be the responsibility of the
professional of record for the structure and
in accordance with current building codes

&z

coMPAaMNY

- L oz

for the loads listed on this document 1S /01 MIAIN 5 W s FHONE 828-668-1600
OLD FORT, MNC zZ8762 FAX BZE-668-1805
Models: Design 101-108, 201-203 TITLE

Tested in accordance with ANSI/DASMA
108 and ANSI/DASMA 115

Design Pressure: +36.1/-40.2 PSF

Test Pressure: +54.15/-60.3 PSF

18x8 Carriage House Door +36.1/-40.2 PSF

DRAWN BY:
Jobhn 7. btrcede 6/5/18
APPROVED BY:

DRAWING NUMBER

Carriage-18-8-36-40

REVISION

A

SIZE B

Jobhn 1. btrcede 6/5/18

‘ SCALE

N/A

SHEET

1of1




	install powerpoint.pdf
	install powerpoint.pdf
	Slide Number 1


	INSTALL GUIDE FRONT PAGE-FIGURE 1.pdf
	install powerpoint
	install powerpoint.pdf
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9


	install powerpoint
	install powerpoint.pdf
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16

	Carriage-10-8-37-37 4-4-15.pdf
	Carriage-10-8-50-57 4-4-15.pdf
	FL27482_R0_II_Carriage-10-8-48-55.pdf
	Carriage-16-8-40-43 4-4-15.pdf
	Carriage-18-8-21-21 4-4-15.pdf
	Carriage-18-8-25-25 4-4-15.pdf
	FL27482_R0_II_Carriage-18-8-36-40.pdf




